Home Work IV


ECON 351

Due Date: 26th of December

1:
Suppose Mr. Hakan has the following utility function:

U(Y, l) = Y1/2 l1/2, where Y= income, l= leisure hours, w= wage rate, price of Y =$1, NL is non-wage income and T is the maximum number of hours available. Let ‘t’ be the tax rate on the hourly wage rate, so the effective wage rate is w(1-t) = w*. 

a:
Set up the optimisation problem and derive the utility maximising level of ‘l’ and labour supply [ LS = T – l]. You must express Ls in terms of w, t, T and NL. Is labor supply positively sloped?

b:
Suppose T=24 hours, NL=40, w=$8/hour. Find labour supply when, t=25%, t=40%, t=60% and t=70%. (Note there is no tax on non-wage income).

c:
If there are 1000 identical workers with respect to preferences as Mr. Hakan, can you establish Laffer curve relationship based on various tax rates in (b) above?

2:
In a two period inter-temporal model suppose interest rate falls, show with the help of diagrams the expected change in his consumption in the first period, if :

a) Individual is initially a net borrower and Co is a normal good;

b) Individual is initially a net borrower and Co is an inferior good;

c) Individual is initially a net lender and Co is a normal good;

d) Individual is initially a net lender and Co is an inferior good.

Note: Draw FOUR separate diagrams. 

